Simplify: a 74x7° b pf xp?
a %7 b i = p?
— ?-1--1—5 — G-42
= '?9 = ps

o) Self Tutor

These have the form
a™ X a® =agm"t"

These have the form

Simplify: a™ S
56 L1 Py
a ? b F
56 att
T F ° =
_ 55_3 - :rll—l}
E 53 =z
| Example 3| ) Self Tutor
Simolify: These have the form
p fr}l' ) [(am}ﬂ:amxn
a (3% b (z%)*
a (3%)2 b (z3)*
_ 35><2 _ xaxk
_ glo _ 5k
Example &4 o) Self Tutor
Write as powers of 2:
L
a 16 b L ¢ 1 d 4x2" e 2?
L
a 16 b % ¢ 1 d 4x e =
=2x2x2x2 1 =2" =22 x 2" om
— 24 _ o — 22+ﬂ = 2—3
= 2_4 _ 21’1’1—3




Decide first what
the prime number
base should be.

" Exomple 5 —
Express in simplest form with a prime number base:
b
a o p ¥ ¢ 257
qu
T
a o b « 2
gy PAY
= (3%)* -
_ 32x4 NEST l
s _ 3
= d _ 32y
= 3:!:—2;‘

Example 6

Write without brackets:

o) Self Tutor

4
a (3z)? b (f)
Y
4
a (3z)° b (i)
=3% x 2* ’
4
_ 97,3 T
= 27x F

These have the form
(ab)™ = a™b" or

Example 7

() - (

Notice that

b

a

)

Simplify, giving answers in simplest rational form:
a 7° b 32 ¢ 30-371 d (3)7°
a 1 b 377 ¢ 3¥-37t d (3
32 9 o
— [l B =
9

PN
é




Example 8

Write without negative exponents:

o) Self Tutor

[
b3

3
a 3z b (3z)! ¢ (-)
I
3 _2
a 327! b (32! ¢ (_)
xr
3 1
. . =3
32
_&
9
Example 10 o) Self Tutor
Simplify using the laws of exponents:
: : 15¢7 k2 x kS
a 4z® x 228 - _—
35 (k3)2
7 2., 1.6
a 4o % 228 b 15—{ M
3¢5 (;,;,.3)2
=4x2xa® x 28 = 15 x {779 £2+6
=8 x pth — 52 T pax2
_ SIQ - kﬁ
Tk
=2
| Example 13| ) Self Tutor
Write in non-fractional form:
. :r:2+3m+2 b 9334—59:—3 . 2I5+1‘2+3:i:
T :I.‘z I_2
a2 + 83z +2 b 3 + 5 — 3 ¢ 225 + 22 + 3z
€T 11?2 ﬂ:_z
2 3 5 2
i 3z 2 Z 5x 3 2% T Jx
R — = == e T e
=x+34 2! =z+5z ' —3z72 = 25—(=2) 4 ;2—(=2)

+ 322
=2  + &t + 323




